=
<

a(0 @) (raqd)

; : i i 1l|lf

ar | 1Bl ] i

21072 (|- TSR R ERERL et R o L
s (Wiailtic i i :

o ““E | ] i i
& T e
R )

0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

1072

.................................................

()13¢""|' P Y P B 1

14

0 1 2 3
TP n (PCA to beamline)

—a— DVJIVITTITRET T TOTTgTITar

—e— DOM”mKF| :TT_JgnU ate-noErr
—a— DOM”mKF| 7TTfﬂanU ate-statkrr
—— DQM~mkFEit_TT"JanU ate-gystErr
—— DOM—mKFit_TT_JanUpdate-bothErr

.............

SICEWATL

1072

....................

1.4

Ratio

12

L

-1

LR .
|
N

0 1 2 3
TP n (PCA to beamline)

=

o p/p.)

o 1 2 3
TP n (PCA to beamline)

z

oo a,) (cm)

1072

Ratio

1.z

1.1

iy

0.9

- - w

0.8!

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


